LOW PROFILE DEFLECTOR KIT

67444

Low Pro Deflector Kit Parts List

Stainless

Item Part Qty Description Item Part Qty Description
1 95402 1 Deflector 6 90556 6  5/16-18 x 1 Carriage Bolt
2 95279 2 Adjustment Rod Kit 7 91263 6  5/16 External Lock Washer
3 68734 2  Rod Clamp 8 91430 6  5/16-18 Hex Nut
4 P2740 1 Deflector Bracket Not 68735 1 Drill Template
5 M2071-1* 4  3/8-16 x 1-1/4 Hex Cap Screw |Shown

* Available as a service parts package only (5 pieces per package).

INSTALLATION INSTRUCTIONS

1.

Attach an adjustment rod to each end of the plastic
deflector using one rod clamp, two 5/16-18 x 1"
carriage bolts, two 5/16" external lock washers and
two 5/16-18 hex nuts per rod.

. Remove the original deflector from the spreader by

removing three 3/8" cap screws. Reinstall one into
the hoop and retighten.

Tip the unit forward so work can be performed on
the rear of the unit.

Place the supplied template in the frame channel
with the holes toward the bottom.

L

. Center punch these holes and drill with an 11/32"

drill.

. Install the new deflector with two 5/16-18 x 1"

carriage bolts, two 5/16" external lock washers and
two 5/16-18 hex nuts.

. Remove the four 3/8-16 x 3/4" cap screws that

fasten the bottom bearing plate to the unit.

. Install the adjustable deflector bracket to outside of

the bottom bearing plate using the four 3/8-16 x 1-1/4"
stainless cap screws supplied with the kit and the
locknuts removed in Step 7. Realign the bottom
bearing plate before tightening the cap screws. The
spinner must rotate freely and the auger must not
strike any part of the hopper throat.

- over -

May 10, 2004

Lit. No. 68680



LOW PROFILE DEFLECTOR KIT 67444

ADJUSTING THE DEFLECTOR

A WARNING

Turn spreader off before filling, adjusting or
cleaning.

The spread pattern is dependent on the spinner speed
and deflector position.

Wide Spread Pattern Narrow Spread Pattern

Leb/ N

O o o O\ o o %O o o o

ooooooo ooooooo

Passenger Side Spread Pattern Driver Side Spread Pattern

Copyright©2004 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any printed,
mechanical, electronic, film or other distribution and storage media, without the written consent of the company. Authorization to photocopy items
for internal or personal use by the company’s outlets or spreader owner is granted.

The company reserves the right under its product improvement policy to change construction or design details and furnish equipment when so
altered without reference to illustrations or specifications used. Do not exceed vehicle ratings with a spreader. The company offers a limited
warranty for all spreaders. See separately printed page for this important information.

Printed in USA
May 10, 2004 2 Lit. No. 68680




